=% FHZHEMNG

bA3HGWY7 = X &

VOICE A
1A 3A
A
= HAEBEE 5A ST 4 — REET
N BREFC A
1B 3B
B
727 7JFC B 5B F 7Y
[[=thva AY—2 VOICE A = H AEEER VL7 4 —FRET | Bba == = BrRE
VOICE A
= H AEEER
ILT 40— REET
[[=tiva BY—7 NBREFC A 72 7JFC B FIHIL BsbH = == E= BraE
A ABEFC A
72U T7JFC B
T 7Y




=% FHZHEMNG

VOICE B
2 A
7 T7IFC A 6 A 5 4FC
XAREFC B
2B
D
FCrav 6B DESAFIO.C.F
[[=thva cy—7 VOICE B 72 T7IJFC A >F 4 FC b = B IR | BERE
VOICE B
72U T7IFC A
54 FC
[[=iva DY—74 XAFEFC B FCrav DESAFIO.C.F Bt =) km | BEkEE
ABREFC B
FC7a>
DESAFIO.C.F




=% FHZHEMNG

bA3HGWY7 = X &

11T 11A
118B
7A 8A
A B C
27T 11¢C
11D
7B 8B
A B C
3T 12A
128
8C 8D
A B C




